6.4. RECURRENCE RELATION FOR THE PROBAB"’” 1
POISSON DISTRIBUTION . %
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.’4 Example 2. X follows Poisson distribution and

y ‘1 !:

P(X = 0) = P(X = 1) = a. Show that
(AHSEC 1996)
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Soksion. Given P(X = 0) = PX=1)
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- -A=log, 1 - log, 2
- -A=0-.693
- -A=-.693
s E(X) = 4 = 0.693

Example 4. A random variable X is such that P(X = 1) = 2. P(X = 2), ]
@ PX =0), (i) PX = 0).

Solution. Given, P(X = 1) = 2 P(X = 2)
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(1) X 20)~=1

Example 5. From a population consisting of defective and non-defective items, -



